B.A./B.Sc. Part III (Honours) (1+1+1 Pattern) Examination, 2020
Subject: Economics
Paper: VI
Time: 2 hours Full marks: 50
The figures in the right hand margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
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Write the answer to questions of each Half in separate books.
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First Half
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(Development Economics)
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1. Answer any three questions from the following: 3x5=15
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(a) Mention main obstacles in the development of an under developed country.
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(b) Define sustainable development and briefly discuss the basic pillars of
sustainable development.
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(c) How is Human Development Index calculated?
TR SR I S O ol el 7 ?
(d) Explain main features of import substituting policy.
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(e) Briefly explain Prebish doctrine.
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2. Answer any One questions from the following: 1x10=10
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(@) Briefly discuss the basic need approach of economic development.
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(b) Discuss the process of cumulative causation as an explanation of
underdevelopment.
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(c) Describe how an economy chooses between labour intensive and capital
intensive techniques.
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Second Half
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Classical Political Economy
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Marks: 25
T RE
1. Answer any three questions from the following: 3x5=15
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(a) Briefly describe the chief features of classical system.
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(b) Distinguish between simple commodity production and capitalist commodity
production.
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(c) Explain the sources of surplus value.
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(d) Explain the concept of ‘Reserve Army of Labour’ in Marxian economics.
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(e) Point out the limitations of the theory of stages of growth by Rostow.
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2. Answer any One questions from the following:
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(a) Discuss briefly Ricardo’s theory of distribution.
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(b) Explain Marx’s law of falling rate of profit.
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(c) Write a short note on Under Consumption Crisis
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